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QUESTION 1

Of the following, select three functions that the ISDN Functional Group NT-1 for Basic Rate Interface provides.

A. May provide conversion between LEC and the PBX

B. Provides conversion between the 2-wire U and 4-wire S/T references

C. Provides power to allow the U Reference to be longer from the Local Exchange
D. May provide phantom power over the TX and RX loops of S/T reference

E. Allows the Local Exchange to Down speed the local loop

F. Allows the Local Exchange to access and perform maintenance to local loop

Correct Answer: BDF

QUESTION 2

Common Intermediate Format represents
A. Audio Bandwidth.

B. Data Bandwidth.

C. Video Bandwidth.

D. None of the other alternatives apply.
E. Video Resolution.

F. Audio Resolution.

Correct Answer: E

QUESTION 3

Which of the following are the correct descriptions of B and HO? (Select two of the following options.)
A. "HO-Channel" has 384 kilobits per second of bandwidth

B. "HO-Channel" has 1.544 million bits per second of bandwidth

C. "B-Channel" has 48 kilobits per second of bandwidth

D. "B-Channel" has 128 kilo bits per second of bandwidth

E. "HO-Channel" has 1.920 million bits per second of bandwidth

F. "B-Channel" has 64 kilobits per second of bandwidth
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Correct Answer: AF

QUESTION 4

The H.323 requires mandatory support of which video coding?
A. H.262

B. H.261

C. MPEG1

D. MPEG2

E. H.263

Correct Answer: B

QUESTION 5

What effect does the zoom function have relative to the camera\\'s field of view?
A. It can either widen or narrow the field at full zoom.

B. It narrows the field at full zoom.

C. It widens the field at full zoom.

D. It has no effect on the field of view.

Correct Answer: B
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